

1. Find the coordinates of the points on the curve $y = 2xe^{-x^2}$ where the tangent lines are horizontal.

horizontal tangent line \Rightarrow derivative is zero

$$f(x) = 2xe^{-x^2} \quad \text{product rule: } f'g + g'f$$

$$f'(x) = (2)(e^{-x^2}) + (-2xe^{-x^2}) \cdot (2x)$$

$$= 2e^{-x^2} - 4x^2e^{-x^2}$$

$$= 2e^{-x^2}(1 - 2x^2)$$

When is $f'(x) = 0$?

$$f'(x) = 2e^{-x^2}(1 - 2x^2) = 0 \quad a \cdot b = 0 \Rightarrow a = 0 \text{ or } b = 0$$

$$2e^{-x^2} = 0 \quad (1 - 2x^2) = 0$$

$$e^{-x^2} = 0 \quad 1 = 2x^2$$

$$\text{never} \quad \frac{1}{2} = x^2$$

$$\pm \sqrt{\frac{1}{2}} = x$$

$$y = e^{-x^2}$$

$$x \mapsto -x^2 \mapsto e^{-x^2}$$

$$f(x) = e^x \quad g(x) = -x^2$$

$$f'(x) = e^x \quad g'(x) = -2x$$

$$f'(g(x)) = e^{x^2} g'(x) = -2x$$

$$f'(g(x)) \cdot g'(x) = e^{x^2} \cdot (-2x)$$

2. Find the derivative of the following functions:

a. $f(x) = \sqrt[3]{1+x^3}$

d. $R = \csc^3(\pi x)$

b. $g(x) = \cot 5x$

e. $w = \left(\frac{t+1}{t^2+2}\right)^4$

c. $h(x) = \frac{1}{2}x^2\sqrt{16-x^2}$

f. $y = \tan^3(2x^2+1)$

(a) $f(x) = \sqrt[3]{1+x^3}$
 $= (1+x^3)^{1/3}$
 $f'(x) = \frac{1}{3}(1+x^3)^{-2/3} \cdot 3x$
 $= x(1+x^3)^{-2/3}$

$f(u) = u^{1/3}$
 $f'(u) = \frac{1}{3}u^{-2/3}$

(e) $w = \left(\frac{t+1}{t^2+2}\right)^4$
 $f(u) = u^4 \Rightarrow f'(u) = 4u^3$
 $u = \frac{t+1}{t^2+2}$
 $u' = \frac{(1)(t^2+2) - (2t)(t+1)}{(t^2+2)^2}$
 $w' = f'(u) \cdot u'$
 $= 4\left(\frac{t+1}{t^2+2}\right)^3 \cdot \frac{(t^2+2) - (2t)(t+1)}{(t^2+2)^2}$

(b) $g(x) = \cot(5x)$
 $g'(x) = -\csc^2(5x) \cdot 5$
 $= -5\csc^2(5x)$

$f(u) = \cot(u)$
 $f'(u) = -\csc^2(u)$

$= 4\left(\frac{t+1}{t^2+2}\right)^3 \cdot \frac{t^2+2-2t^2-2t}{(t^2+2)^2}$
 $= 4\left(\frac{t+1}{t^2+2}\right)^3 \cdot \frac{-t^2-2t+2}{(t^2+2)^2}$
 $= -4\left(\frac{t+1}{t^2+2}\right)^3 \cdot \frac{t^2+2t-2}{(t^2+2)^2}$
 $-t^2-2t+2$
 $-(t^2+2t-2)$
 does not factor

(c) $h(x) = \frac{1}{2}x^2\sqrt{16-x^2}$
 $h(x) = \frac{1}{2}x^2(16-x^2)^{1/2}$
 $h'(x) = f'g + [g(u) \cdot u'] \cdot f$
 $h'(x) = (x)(16-x^2)^{1/2} + \left[x(16-x^2)^{-1/2}\right] \cdot \left(\frac{1}{2}x^2\right)$
 $= x\sqrt{16-x^2} + \frac{1}{2}x^3(16-x^2)^{-1/2}$

$g(u) = (16-x^2)^{1/2}$
 $g'(u) = \frac{1}{2}(16-x^2)^{-1/2} \cdot -2x$

(f) $y = \tan^3(2x^2+1)$
 $y = f(u(v(x)))$
 $x \rightarrow 2x^2+1 \rightarrow \tan(2x^2+1)$
 $y' = f'(u(v(x))) \cdot u'(v(x)) \cdot v'(x) \rightarrow (\tan(2x^2+1))^3$
 $y' = 3[\tan(2x^2+1)]^2 \cdot \sec^2(2x^2+1) \cdot (4x)$

(d) $R = \csc^3(\pi x)$
 $= (\csc(\pi x))^3$
 $R = f(u(v(x)))$
 this has two layers
 $x \rightarrow \pi x \rightarrow \csc(\pi x) \rightarrow (\csc(\pi x))^3$
 we have to peel back

i) $f(u) = u^3 \Rightarrow f'(u) = 3u^2 \cdot u'$

ii) $u(v) = \csc(v) \Rightarrow u'(v) = -\csc(v)\cot(v) \cdot v'$

iii) $v(x) = \pi x \Rightarrow v'(x) = \pi$

Peel back the layers method:
 $x \rightarrow v(x) \rightarrow u(v(x)) \rightarrow f(u(v(x)))$
 deriving "removes" a function

$R' = f'(u) \cdot u' = f'(u) \cdot [u'(v) \cdot v']$
 $= (3u^2)(-\csc(v)\cot(v)) \cdot (\pi)$ sub in
 $= 3[\csc(v)]^2(-\csc(v)\cot(v))(\pi)$ $u = \csc(v)$
 $= 3[\csc(\pi x)]^2(-\csc(\pi x)\cot(\pi x))(\pi)$ $v = \pi x$
 $= -3\pi \csc^3(\pi x)\cot(\pi x)$

derive f: $f'(u(v(x)))$
 * derive u: $f'(u(v(x))) \cdot u'(v(x))$
 * derive v: $f'(u(v(x))) \cdot u'(v(x)) \cdot v'(x)$
 * derive x: $f'(u(v(x))) \cdot u'(v(x)) \cdot v'(x) \cdot 1$